Reticolato 2 a2

Nome:

Usa la moltiplicazione del reticolo per risolvere ogni problema.
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Reticolato 2 a2 Nome:  Soluzioni
Usa la moltiplicazione del reticolo per risolvere ogni problema. Risposte
1) _ 2) _ 3) _
58 x 31 = 70x15= 21 x99 = N 1.798
5 8 7 0 2 1
2 210 o,
1 3 0 1 1 e |2 1.050
1 5 4 177 , 0 5 g |~ 9
0 0 3 .70 1 o | |= 2079
5 1% "5 o> | ol°
! Ok = 0 £ s 7.392
9 8 5,7 0 7 9
5, 948
4) - 5) — 6) _
88 x84 = 79%x12= 96 x 29 = 6 2784
8 8 7 9 9 6
6 6 8 O/, O 1 1 1/,’/ 2 7 4575
5 4 4 0 T , 9 5 g .~ 2
3 3 AR 8 5 8. 1.612
2|2 |* 4| 8|7 Ak
3 9 |.” , 7
. - 0. 3.630
9 2 4 7 8 8 4
10. 7.326
7) 8) 9
61lx75= 26 X 62 = 66 x 55 =
1. 3.648
6 1 2 6 6 6
4 0 7 1/, 3 6 3 3 5 | 12 4.650
4 2 7 172 , 6 3 ol O
3 0 0 |1 3 3 7
5 2 |5
5 0 5 6| 4 ) 2 6 0 ,," 0
7 5 1,72 3 0
10 74x99= W s7x64= 12) 62x75=
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